
Classical max-flow ! O(|Edges|⇥ |Nodes|) algorithm
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What happens when the network is under attack ? When is the network ?
How many attacks ? · · ·
Modeled as a game between an attacker and a defender

Network Interdiction
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1 Attacker strikes

2 Max-flow is computed

NP-hard (for any k attacks)

Adaptive Network Flow
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1 Flow is computed

2 Attacker strikes

NP-hard (for any k attacks)

Jean-Francois	Baffier�

�����
�������

?ka@iAKjX186T92L04&<>cC@eJB�
0-������ 	��� ���	�����.�1����� 	��� �


���-�25������ 4 2!� 65�"�:55�23�6��

jX534:%0-El�

eJ=G�

F.*eJA� IE,'+A�

���
*���������

���+ !�

���.
�&4�%/��

���������-0$2�

�)#(	�,13�

��0����"'������

Andre	́	van	Renssen�

Limited Memory

Started in the 70’s

Increased interest recently

Input: read-only, random-access

Output: write-only

Memory: O(s) words

Model

Multiroute Flow as a tool
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Motivation: disjoint routes with the same value

Introduces in 1993 by Wataru Kishimoto et al.

+ Fast to compute and we improve it!

� (k + 1)-Approximation and we prove it!

+ Quite good in practice and we evaluate it!

z Solve Interdiction problems for some graphs
I At least 97% of success on classic families of graph: grids, complete networks,

random-shape networks · · · . It scales!
I Weak on complex networks (R-MAT generator). Doesn’t scale

z Give a much better approximation and improved bounds
I Upper bound: heuristics, local search, MILP and Bilevel Optimization
I Lower bound: deterministic (and k-approximation to Adaptive Network Flow)

� Our method minimizes the energy/ressources comsumption

Voronoi Diagram

Input: set P of points in R2

Output: Subdivision of R2
, such that each region has a

common nearest neighbor in P .

Output format: vertices of Voronoi diagram in arbitrary order

Takes O(n log n) time using O(n) space
O(n2

) time using O(1) space [Asano et al. 2011]

Result: O((n2/s) log s+ n log s log log⇤ s) time in O(s) space
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条件に合った経路を見つける

ゴール失敗ゴール失敗

スタート スタート

条
件
を
追
加
し
て

矢印に沿ったスタートからゴール
までの道のりはありますか？

「赤だけの矢印」または「青だけの矢印」を
使ったゴールまでの道のりはありますか？
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Social Network 

アリ 

ヒト（twitter） 
ゾウ スズメ 

ネットワーク構造の定量化と 
そのメカニズムの解明 

頂点がダイナミクスをもつネットワーク ・神経細胞の発火 - 神経ネットワーク 
・種の個体数変化 - 生態系ネットワーク 
・人の活動 - 社会ネットワーク 

Time-series Analysis 

埋め込みによるアトラクタの再構成 

非線形力学系＋確率のデータから因果関係を検出�

時系列データだけから因果関係を推定 

さらに条件を追加して
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ゴール失敗
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スタート

2 2
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ゴール失敗

「同じ番号の点では同じ色の矢印を使う」
スタートからゴールまでの道のりはありますか？
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スタート
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N人寄れば文殊の知恵
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集合知が劣化する２つのメカニズム
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